vile & &

sl

9x 10 =
1002 =

2% 100D =

9x 10% =
239,2+100? =
5% 107 =
5x10% =
~1x10=
188,110 =

103 =

Al NGB

1003 =
720,3 + 107Y =
1003 =

6x10° =

3x 1079 =
336,8 x 1002 =
—3x 10* =
100D =

1004 =

10(—1) —
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villd & §

sl

9% 10 = 90
1072 = 0.01

2% 1070 =022

9 x 10% = 900

239,2 + 107 = 23920
5% 107 = 0.0005

5% 10% = 500
~1x10=-10

188,1+ 107 = 188100

1073 = 0.001

dagtill
107 = 0.001
720,3 + 107% = 7203000
107 = 0.001
6x10° =6
3 x 107% = 0.0003
336,8 x 10 = 0.3368
—3 x 10* = —300
1077 =0.1
107 = 0.0001

1000 = 0.1
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